> RIVAL

m DOOR KIT INSTALLATION MANUAL

m MONTAGEEINLEITUNG TUREN SET

For: Polaris Ranger 1000 XP (2018-)

2444 74551
444.7455.1

e

WWW.RIVAL4X4.COM



EN Regular fasteners
DE Originale montageteile
RU LUTaTHbIM Kpenex

EN Regular fasteners
DE Originale montageteile
RU LLUTaTHbIM Kpenex

EN Screw a several turns
DE Far wenigen Umdrehungen befestigen
RU BkpyTnTb Ha HECKONBbKO 060POTOB

EN Loosen bolts
DE Bolzen lockern
RU BbIkpyTUTb Ha HECKONBKO 060POTOB

EN Office Knife
DE BlUromesser
RU KaHuenapckmm HoxX

EN Wrench
DE Schraubenschliussel
RU Mae4yHbIn kntoy

EN Grease
DE Schmierfett
RU KoHcucTeHTHas cmaska




EN Ratchet
DE Ratsche
RU TpewéTka

T oy

=
g > (=)
= x2 g x2 = x2 | M8x20 x6 | M6x20 x2 | M6 x2
7 8] 9 10
a2
o8 x6 | &6 x4 x2 | M8 x4







% RIVAL




g
2
i
®




> RIVAL




.
m
10
®

=A2

my?
Al

/




